
   

 
 
 
 

 
 

 

 

 

Question (1): 
 

(i) A manufacturer of thermistors makes the following observations on a thermistor, 

               Compute the temperature corresponding to 754.8 ohms (find :y at x =754.8) by using 

                Lagrange interpolation                                                                              

Resistance (x) 31119 69616 1.111 

eTutTeepmeT (y) 961191 161106 .61105 
 

 

(ii) Find an interpolation polynomial by Newton forward Method which interpolate the 

function y = f(x), at the points (1,9), (2,26), (3,55), (4,102), then find y at x=1.5   

 

(iii) Deduce a cubic interpolation polynomial which interpolate the function          at the  points (1,- 4)  , (2,8)  , (5,140) , (8,542) , (9,764) , (10,1040)  by 

divided difference  method  
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